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1. o[ Rz [ wa Tedc Ak Sfrear :  1x8=8

Choose the correct answer from the following
alternatives :

(@ IR (FCG RIS O 27 2

Which one of the following is not
quantitative data?

() 9& FET ewe
Weight of a person
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(2)

(i) “ETe Preg fore
Sex of newborn babies

(iii) AfSCH ~fRFe A& A
Number of persons per family

(iv) TA& RETS (=T *oFq T
Percentage of marks in English

(b) @B 3BT weAfew I @R =, ;W

A distribution is said to be skewed, if
() TG = YA = IFP
mean = median = mode

(i) WG # JYN # TP
mean # median # mode

(iii) P = JGAT = ¢ <0
mean = median = mode <0
(iv) G = I = I=<F = 0

mean = median = mode =0

(© T ERER Rew g wRaE wEe T
"

For comparing variability of two series,
one should calculate

(i) =FH BARF
coefficient of correlation
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(3)

(i) R34 @a%

coefficient of variation
(iii)) YT v

quartile deviation
(iv) -=FbeF “Afq

semi-interquartile range

(d) @ESFMF ITT] I
For a leptokurtic distribution
(i) By, >3
(@) B, <3
(@) B, =3
(v) B, =0

(e) Bl I5T fG8R v GF

The second quartile of a distribution is
same as the

() S e
second decile
(ii) 4
median
(i) EST S|
25th percentile
(iv) 1EST SN
75th percentile
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@ < Ao SRSy BN AR (FR
Karl Pearson’s coefficient of skewness
ranges from :

(i) OF 0 e
0 to e

(i) —13 °[& +1
-1to+1

(iii) —3% °M{1 +3
-3 to +3

(iv) —eoF &1 +oo
—oco tO +o°

(g T (f) 7q >0 2@ (then)
(i) cov(X,Y)=0
(ii) cov(X, Y)< 0
(iii) cov(X, Y} > 0
(iv) cov(X,Y)= ~(0x0y)
() A T® B 70 8T FI e R R
==

In case of two attributes A and B, the
ultimate class frequency is

(i) (A)
(ij) (AB)
(i) (
(iv) (B)

o)
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2. fee Tet 7o - 4%x4=16

Answer in brief :

(@ TR T TEEE wE O SYE WS
of1efey e ==

Distinguish between primary and
secondary data with examples.

(b) S &R @ €51 RS I IR AR
oo =@ Foise T Rowqele HE 2
CTRICR
Show that for any discrete distribution,
standard deviation is not less than
mean deviation from mean.

() B TEES IR HERT (IR (XR
3X+2Y =26 WF 6X+Y =3L rgyd A
Bferen )

Two random variables have the
regression lines 3X+2Y =26 and
6X +Y =31. Find ryy.

(d) TEe g FRANTS TR IR 90 (89 A) o€
@5T® WEE @4 (89 B) 3000 & @S
efim <9 (| PR TR BT AW
Shrea e (TR T M
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The following table shows 3000 cases
classified according to medicine used
(attribute A) and attacked by disease
(attribute B). Determine the Yule’s
coefficient of association and state your
conclusion :

B Not B

A 20 780

Not A | 220 1980

3. (@) “FTRE AR cfad SF SRR I
R qE 2 IR e SR e 7
4 TRI I W2 2 @ 2o
SYLE I 90 3+3+3=9

What do you mean by classification
and tabulation of statistical data? What
are the graphs that are used for
presenting a frequency distribution?
Discuss each of them briefly.

¥[%<1 /Or

(b) R e IREA @ RfeR @99 TR
AL 4T | 9

Discuss the different types of
measurement scale used in Statistics.
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4. (a) ST T4, ST TG WEF WG NG Iorce
¢ g2 ¢y @ AM>GM > HM. 3+3=6
Define arithmetic mean, geometric

mean and harmonic mean. Prove that
AM >GM >HM.

<1 /Or

(b) T Fm & =0 Rewrw s
TRE TEY T T RoA W WS
favers T== om0 2+2+2=6
What is dispersion? Write the names
of different measures of dispersion.

Explain the main difference between
mean deviation and standard deviation.

5. (a) T R TER OTE &N e w2
AT T @ DT QNRA T -1 §qF 19
rEre AT | 2+6=8
What do you mean by correlation
coefficient between two variables?

Prove that the correlation coefficient
lies between -1 and 1.

(b) M9 FA T T FOF AT W T
BT [ | 3
Prove that the correlation between two
independent variables is zero.

P25/507 ( Turn Over )



(8)

6. (a) T @1 ANFE BI IR AAT TR A
=1 (e &, T

State the conditions of consistency for
two attributes A and B. Show that, if
@=x, (—@ =2x, (—C—) =3x 9¥ (and)
N N N

(AB) _(BC) _(CA) _

N N N

(SR ’zsfxwmmlmwﬁmt
4 4+6=10

then the value of neither x nor y can

exceed -1-
4
211 /Or

(b) T @l @R T RN AF ATIE
@A W2 A 8T Q HF HFIH
BT Y FRe PR st afeer 79 :

4+6=10
When are two attributes said to
be positively associated and negatively
associated? Establish the following
relation between coefficient of
association O and coefficient of
colligation Y :
e g
1472
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( Old Course )

Full Marks : 80

Time : 3 hours

1. oo e o w% Tewo AR Oftedr : 1x8-8
Choose the correct answer from the following
alternatives :

(@) T RFHCE FRTS T T ?

Which one of the following is not
quantitative data?

(i) &= TSI S
Weight of a person

(i) “aETs P o

Sex of newborn babies

(iﬁ)sze—c‘mﬁwwf@ﬂw

Number of persons per family
(iv) 28 Rge |1 o TR/
Percentage of marks in English

(b) <1 3 wefow I o =, A

A distribution is said to be skewed, if

(i) NG = I = IFF
mean = median = mode
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(i) T # TN # I
mean # median # mode

(fii) Y = Y = ¢ <0
mean = median = mode <0

(iv) G = TG = 3¢ = 0
mean = median =mode =0

() T TP Reem o IR /TS T
ey

For comparing variability of two series,
one should calculate

(i) T2TR BIRP
coefficient of correlation
(ii) o3 BT
coefficient of variation
(iii) voe oo
quartile deviation
(iv) SE-Soede AT
semi-interquartile range
(d) @IS IS AR
For a leptokurtic distribution
) By >3
(i) By <3
(iij) B, =3
(iv) B, =0
P25/507 ( Continued )




(11)

(e) &b A% FTE 53T G |

The second quartile of a distribution is
same as the

() RS e

second decile

fi) <3
median

(iif) X@ST *TORTE
25th percentile

(iv) 1@ST ORI
75th percentile

() < AEFoE AT BT Af PR =R

Karl Pearson’s coefficient of skewness
ranges from

(i) OF °[1 e
0 to oo

(@) -13 *9 +1
-1to+1

(i) -3 °§ +3
-3to+3

(iv) —ooF *{1 +eo

—co {0 +o0
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(12

(g) M (f) 1y, >0 (CXC (then)
(i) cov(X,Y)=0 |
(ii) cov(X,Y)<0
(iii) cov(X, Y)> 0
(iv) cov(X, Y) = —(6404)

(h) A F B 0 @R I PO G I
[eae

In case of two attributes A and B, the
ultimate class frequency is

() (A)
(i) (AB)
(i) ()
(iv) (B)

2. fee Teg T : 4x4=16
Answer in brief :
(@ TIRW G safis o NG YR TS
siiefr /o T

Distinguish  between primary and
secondary data with examples.

(b) m{@ﬂﬁm&ﬁﬁﬁ@a@awqm
Roe T AR SRR T g
(TR |
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Show that for any discrete distribution,
standard deviation is not less than
mean deviation from mean.

(0 7O TS SRR HRER (IO =
3X +2Y =26 E®F 6X+Y =3L rxys =
Tferear |

Two random variables have the
regression lines 3X +2Y =26 and
6X+Y =31 Findryy.

(d) oo g FRATS 7L TI2E 91 (89 A) S
e =TEE @[l (89 B) 3000 T @RS
cfiME I R | TR RAA QNI I
Shreqr wF (O T A

The following table shows 3000 cases
classified according to medicine used
(attribute A} and attacked by disease
(attribute B). Determine the Yule’s
coefficient of association and state your

conclusion :

B Not B

A 20 780

Not A | 220 1980
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3. (a)

(b)

4. (a)
P25/507

(14)

ARTR O AR ST e I
il TR TR Tereme TR & R
74 AR R ? R TR Aol R

What do you mean by classification
and tabulation of statistical data? What
are the graphs that are used for
presenting a frequency distribution?
Discuss each of them briefly.

w31 / Or

oot e TRRR el e @R PR
A 41 | 9

Discuss the different types of
measurement scale used in Statistics.

A T, TS NG E TS T TFA
& @7 @yeq @ AM 2 GM 2 HM. 3+3=6

Define arithmetic mean, geometric
mean and harmonic mean. Prove that
AM >GM =z HM.

( Continued )




(15 )

231 / Or

p) Roe Fra B g Qosw PR
TR S 9| T [uew WE e
oo TR AL T I 2+2+2=6

What is dispersion? Write the names
of different measures of dispersion.
Explain the main difference between

mean deviation and standard deviation.

5. (@ W R WeR v e e o3
S I (@ FDTFE QI T -1 WEF 19
TS AT | 2+6=8

What do you mean by correlation
coefficient between two variables?
Prove that the correlation coefficient
lies between -1 and 1.

(b) o T @ P TG I TG RTTH
BT X | 5

Prove that the correlation between two
independent variables is zero.
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6. (a) T 81 ASF BI I Mol vETR Tead
T @S @, M

State the conditions of consistency for
two attributes A and B. Show that, if

@_, %’: & (—C;V)=3xW(and)

(AB) _(BC) _(CA) _
N N N

(SCZTE x AF yaml@@m@aml
4 3+5=8

then the value of neithier x nor y can

exceed l
4

&3/ Or

(b) T BT @R ANE A AF AT
IR W AR BMF Q WE A
B9 Y1 IR FafRe STl 2w 1

2+6=8
When are two attributes said to
be positively associated and negatively
associated? Establish the following
relation between coefficient of
association @ and coefficient of
colligation Y :

- 2Y
T y2
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7. (a)

(b)

P25/507

(17 )

woe Tl BN FRC (i) OIOLF Tl (O
qE (i) OO TE (ORI G WP P

& o o[ TR [l 790 5+5+5=15
For the following distribution, draw

(i) more than ogive and (i) less than
ogive jointly and hence find the
median :

HERF TEH ] LIRS Ko
Weekly wages i No. of workers
2040 \ 8
40-60 ‘ 12
60-80 l 20
80-100 30
100-120 40
120-140 35
140-160 , 7
160-180 7
180-200 5
21/ Or

(i)maﬁz@aamﬁmﬁw%ﬁﬁ
= Y9 A ol o9, faom =®
oon (Em g T ey 0 8

Find the first, second and
third central moments from the
following values of first three raw
moments obtained from a frequency
distribution :

ui =-1-506, wy =17-120, ph =-30-423
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8. (a)

P25/507

(18 )

(i) N T L Tl TR R
e faul ©U |l TR el A
9 7
Calculate the coefficient of
correlation from the following

data by the Spearman’s rank
difference method :

o723 o7 (53T) 39 377 (577)
Price of tea (T) Price of coffee (T)

75 120

88 134

95 150

70 115

60 110

80 140

81 142

50 100 |

SRS 2o Mg A | (1S (X TR TR
7o GLATET W HDTIR ROR A | (S X
ARY RS AT SR A T SIS
el 1+2+2=5

Define regression coefficient. Show that
the geometric mean of two regression
coefficients become equal to the
correlation coefficient. Show that the
regression coefficients are affected due
to change of scale.

( Continued )




(19)

%31/ Or

(b) B ARARE IS A TeTS TR FHAFTIR
COTRT o'

A frequency distribution gives the
following results :

(i) <G =17-4
Median=17-4

(i) ¥ =155
Mode =15-5

(i) ATe>eR (FAIOR (@R =0-35
Pearson’s coefficient of skewness
=0-35

Rvae e T 341 | 5

Calculate the coefficient of variation.

* Kk *
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